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1. Open this booklet only when you have been told to do so. Page | Score
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You have 35 minutes to complete this paper. Write
your answer clearly in the space provided.
Please leave
blank
Calculate: 478 x5
Answer: 1
Calculate: 8789 - 989
Answer: 1
Calculate: 3.6 +2.83
Answer: 1
Calculate: 501.1+6
(Give your answer to 1 decimal place)
Answer: (1d.p) 2
Write down the next two terms in the following sequence:
1,4,9, 16, 25, :
1
Total marks:
Answer:
(Max 6)
®
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@ Write down the following number to two decimal places.

11.355

N

Please leave
blank

Answer:

Calculate: Work out the value of x if:

X+2=7x-10

Answer:

The table below shows the age of some students attending
St. Margarets primary school.

6 7 8 6 9 10 7 8 6 5 5
Find:

(a). The mean of the ages

Answer:
(b). The median age

Answer:
(c). The modal age

Answer:

Total marks:

(Max 7)
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@ This machine doubles and then subtracts 5.

Which number has been entered?

? >(
| {

129

v

—

Answer:

The following drawing shows David’s garden. Calculate the
area of the path.

A
A 4

6m

A

v

9m

Answer: m

What is the difference between the largest and the smallest
numbers in the list below:

28.2 11.02 5.09 13.77 2.82

~

Please leave
blank

2

Answer:

Total marks:

(Max 5)
(N
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Which of the following coordinate is v Pleaseleave
an
outside the box? T
40
(20,35)
(40,-20) -30 50 X
(-25,20)
(30,-30) 2
(-25,-20)
Answer: ( , ) 2
What is the area of this trapezium?
. 8cm
5cm
+—>
4cm
Answer: cm’ 2
14 | Hashim Amla is a cricket player. Following are his batting scores
for the last 5 matches.
110, 98, 54, 0, 28
Calculate the average runs he has scored per match in the last
five matches.
1
Answer: Total marks:
(Max 5)
®
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Kevin has dropped paint on the carpet of his room. 25% of the | "o
room has been covered. The total area of his room is 160m?.
How much area has been covered?
Answer: m2 2
Find the missing angles.
f
e
120 Answer: (e) 1
Answer: (f) 1
Mary will be X years old 5 years from now. How old was she
4 years ago? (Give your answers in terms of x)
Answer: 1
What is the range of the following numbers.
13.4, 5.05, 4.09, 5.07, 17.8
1
Total marks:
Answer:
(Max 6)
N
( 0
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The table shows the numbers of red and green shapes in a Please leave
box.
What is the probability that a shape taken out of the box will be
Green?
Red Green
Circles 15 17
Trapeziums 9 11
Answer: 2
A lottery jackpot of £50,000 is equally shared between 20 people.
Michael has 4 winning tickets. How much does Michael win?
Answer: 2
On 1% October 2010 the sunrise was at 07:00 and sunset at
18:41 in London. How long was there light in London on that day?
1
Total marks:
Answer: hrs mins (Max 5)
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On the number line below what number does the arrow point to?

A hair salon used a pictogram to show how busy they had been
during the opening week.

Haircuts

Monday

Tuesday

<

Wednesday
Thursday

Friday

K KK XX
K KX X X
K V¥V X X X

X X
XXX XXX XD

Saturday

(a). How many hair cuts were carried out between Monday

and Thursday?

Answer:

(b) How many more haircuts were carried out on Saturday than

Tuesday?

Answer:

Answer:

N

Please leave
blank

Total marks:

(Max 3)

o to the next page

®,




-

How many rectangles of any size are there in this diagram?

~

Please leave
blank

Answer:

An isosceles triangle has angles x, y and z. Angle x is 80°.
Angle x is larger than angle Y.
What is the size of angle Z?

Answer: X =

How many 1cm? cubes can you fit into the following cuboid?

8cm

4cm

2cm

2

Answer: cm

Total marks:

(Max 4)

) to the last page n
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. . . . Please leave
Harry has surveyed all the students in his class of their favourite blank
colour. 40% of the students like yellow.
How large should he make the angle for the yellow colour?
Yellow
X
Answer: ° 1
28 | Tom is hosting a party. He has prepared 80 centilitre of orange
squash. Each glass hold 150ml when full. How many glasses can
he completely fill?
Answer: 2
Total marks:
(Max 3)

C END OF TEST]
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